
 

A3.2B  Factoring & Graphing  Math 1050  Name 

1.  Factor then graph:   (x) 2 )(x )P = ( − x + 5  
Label your y­Intercept.  

 

2. Factor then graph:   (x) 2x )(x )(x )P = ( − 5 + 5 + 1 2  
Label your y­Intercept.  

 
 

3.  Factor then graph:   (x) x xP = x3  − 2 2 − 8  
Label your y­Intercept.  

 

4.  Factor then graph:   (x) xP =   − 2 3 − x2 + x  
Label your y­Intercept.  

 

5.  Factor then graph:   (x) x xP = x4 − 3 3 + 2 2  

 

6. Factor then graph:   (x) xP = x5 − 9 3  

 

 
   



 

7.  Factor then graph:   (x)P = x3 + x2 − x − 1  
Label your y­Intercept.  

 

8. Factor then graph:   (x) x x 2P = x3 + 3 2 − 4 − 1  
Label your y­Intercept.  

 

9. 

 

 

 10.  Factor then graph:   .(x) x 8xP = 2 3 − x2 − 1 + 9   
Label your y­Intercept.  

 
_________________________________________ 
11. Factor then graph:   

.(x) x x 6P = x4 − 2 3 − 8 + 1   
Label your y­Intercept.  

 

 
 
 



 

12.  Factor then graph:   
.(x) xP = x4 − 3 2 − 4   

 

13. Factor then graph:   
.(x) x x 0x 5P = 2 3 − 1 2 − 5 + 2   

 

14. Factor then graph:   
.(x) x 7x 4P = x4 + 2 3 − 2 − 5   

 

15. Factor then graph:   
.(x) 4x 5P =   − x4 + 1 2 − 4   

 

16. Factor then graph:  
.(x) x x 0xP =   − 9 3 + 3 2 + 3   

 

17.  Factor then graph:   
.(x) x xP =   − x3 + 2 2 + 4 − 8   

 

 
 
   



 

18.  Find the Domain: 
(x)f = x−1

√3x−x2  
 
 
 
 

19.  If the graph below is  Graph the following:(x). f  
)  f( x)  a 2

1  
) f(− )b x + 2  
)  3 (x)c − f  
 

 

20.   Find the vertex, vertex (standard) form, 
x­Intercepts and 
y­intercepts and 
Graph 
(x) x 4x 6f = 3 2 − 2 + 3  
Vertex 
 
Vertex (Standard) 
Form 
 
 
x­Intercepts 
 
y­Intercept 
 
 

21.  Find the following  
if   and (x) f =  x

3 (x)g = x
x+3  

 
f ° g  
 
 
 
g ° f  
 
 
f − g  
 
 
f
g  

 
 
 


